M7 FE FREMIEKRTF FRFEREER ASGBER

1. SEE. F2REEZTHRE,. ABREH (EFR DBEBE2UMERAAN)

EME =MFEER
5% & B A 52 REEBHRE a % &
AN | B | = | &t | @R B | x| B $ | x| & | &%
3 3 10 13 43| 3 10 13 1 4 5 2.6
THA VR AVZRFPYTLTHAL VER
S5 & B & B2REZZHRE & % &
AB = E°4 | B | B E°q 5 =2 7 3 &R
2 4 9 13 6.5 2 7 9 0 2 2 6.5
ITE#H
=5 & B & B2 REEZRE & K &
AE | = % | x| = % i 2 ES g fE%
6 4 21 25 42| 2 16 18 1 5 6 4.2
2. HERAEMRIERSE, SERER (2% - EREaEH)
EREE | B1%E TRE | A& THE | A& TREE | A&
Al 4 2 Tz 0 0 =B 3 1 =40 0 0
(R%3R) 3 2 B 2 1 KBR 10 1 & 3 1
Ima| 4 0 |#HN| 3 2 i=95 0 0 =5 0 0
Hx 0 0 ) 0 0 =R 2 2 KI5 0 0
EF 1 0 = 1 0 |[#MFuL| o 0 e 1 0
=) 0 0 =B 1 0 B 0 0 K5 0 0
M 0 0 ! 0 0 EiR 1 1 = s 0 0
Wi 0 0 £ 1 0 ) Ly 1 0 |ER 1 1
BS 0 0 sz B2 3 0 IN= 1 0 pashi: 1 0
%35 0 0 B4 1 0 1= 0 0 |Zzofs| 0 0
WA 0 0 F4 3 0 ®E 0 0 B 51 13
BHE 1 0 = 0 0 = 1 1
mE 1 0 s 0 0 EIE 0 0




